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23 6 24
50 H23
1w 120 /km? 10 5 0n® 2 5nW| 114  Jkm® 1 5 0n®
2 5nw 8.60 | km? 7 5 0n9 2 hwW 391 | km’ 3 5 0nd
25mW H23 A ImW | 1 ®9 /kn? 13 5 0n®
50/
1w 44 8 | kn? 4 5 On® 25nW| 102 /km® 1 5 0n®
2 5nw| 09 @ | km? 1 5 0n9 260W| 69 8 | km’ 5 5 0nd
ImW | 08 9 /kn? 1 5 0n®
B
H29 12 8
N A 7




LTE Y\
LTE MCA
90 9% 908
500m
dB dB dB dB dB dB dB dB dB dB dB dB
H2 3
IW10 25mN7 9.60 2.76 - B0 [ - 198 | 1642 1497 9.25 342 1 &5 1 ®1 6.63 503
W10 - 28| - 189 -2 - 1.® | 1053 1363 | - 1. & | - 16 | 1 ®2 1 H2 0.50 3.60
2 5NN 7 957 257 -®»3 [ - 198 | 1512 9.22 9.24 3.34 1 30 940 542 - @8
W4 2 5mN 1 440 - 34 |- 1| - 248 946 987 1.20 - 49 048 9.99 - ®9 0.09
1W 4 - 611 |- 14 |- 236 | - 2.3 6.20 9.30 - 222 - 112 6.34 944 - 30 - A0
2 5NON 1 4.36 -B4 |- 168 | - 268 6.68 0.78 1.16 - &4 6.60 0.70 - J1 - %1
LTE F =i
=2
INh + H23
dB
1 @B 1= IN F
SEAMCAT 2! B J=! % 1=
=] F LTE /N A

il
3

H23 23 6 24
= H29 12 8 B R




MCA /S
LTE MCA
90 9% 908 90
40 150
500m
dB dB dB dB dB dB dB dB
H2 3 0
IW10 25mN7 2.08 1878 | - 1.8 2.74 1.9 3.64 -3 @B5 | -14.18
W10 - 27 1793 | - 1.38B 1.82 148 2.72 -3 24| -15.04
2 5NN 7 0.09 1129 | - 1& | -447 16| - 36 | -3 Bl | -2161
W4 2 5mN 1 - 33 1540 | - 288 | -468 1.37 0.68 -3 469 | -16.86
1W 4 - H6 1514 | - 2.3 -515 1.98 0.27 -3 B4 | -17.34
2 5NON 1 - 86 3.04 - 28| - 158 28| - B8 | -3 B6 | -26.66
MCA =i
=2
H23 23 6 24
= H29 12 8 B R




J\

N B LTE
LTE S| MCA
90 9% 908 90
50 6
dB dB dB dB dB dB dB dB dB dB dB dB
H2 3
2 5NV 1 2 W 3 1MW 1 3 1 317 - B4 - 20 | -2 B8 1 3B1 1.84 1 2 - 35 191 1.75 8.94 - 85
2 5oV 1 4.38 - B2 -1 82| -2 B2 6.62 0.72 1.06 - 84 6.45 055 - 7 - &7
2 MW 3 7.10 -1®0 | - 2 | -2 @2 1 B4 - 6 581 -11.09 1 49 - 51 1.63 -15.27
1mwW 1 3 167 | -1 93| - B7 | -3 87 187 | -1 B3 1T5 | -18.15 1 87 | -1153 7.74 -22.16
25NV 1 2 BW 5 1mW 1 1 DO - 79 - &80 [ -226| 1834 2.22 955 - 36 1 85 212 5.09 - P9
2 5NV 1 4.38 - B2 -1 82| -2 B2 6.62 0.72 1.06 - 84 6.45 0.55 - 7 - &7
2 BW 5 8.53 - A7 -@®5 |-285| 1 3F2 - 38 8.08 - 82 1 37 - 33 3.72 -13.18
1MW 1 434 -2 ® | -1 55| -4 B5 6.52 -2 38 1.14 -28.76 6.53 -2337 | - B3 | -3343
N A LTE F =
J=!
N N B F H23
N dB .
1 @B = N T - + =
SEAMCAT H =] %
=) . H B LTE /N A
= F
H23 23 6 24
= H29 12 8




J\

A MCA N
LTE S| MCA
90 9% 908 90
40 150
500m
dB dB dB dB dB dB dB dB
H2 3
25N 1 2 W3 1mw 13 3.84 413 -1 148 195 - & | -2 89 | -26.03
2 5OV 1 - 86 3.04 - 2R 156 28 | - ®7 | -3 B7 | -26.67
2 W 3 - 31 -321 | - 127 1.7 162 | -1 42| -3 %9 | -35.29
1MW 1 3 258 -1 - 1.0 2.883 12| -2 82| -3 3| -4353
25N 1 2 @W 5 1mw 1 0.16 446 - 148 1.24 18| - 0 | -3 B9 | -25.88
2 5oV 1 - 86 3.04 - 2R 156 28 | - ®7 | -3 B7 | -26.67
2 @MW 5 - B4 -114 | - 1.8 1.8 1% | -1 57| -3 36| -33.76
1MW 1 -20 (- 2| - 2.3 399 292 | -3 3F2 | -3 P2 | -50.72
N H MCA =
J=5]
H23 23 6 24
= H29 12 8




